
B&W Trailer Hitches 

NOTE: We recommend reading instructions before beginning the installation. 

WARNING: The tow vehicle's towing capacities should Under NO Circumstances Ье exceeded. 

Turnoverball™ Gooseneck Hitch Installation Instructions 

Model 1309R 
2009 - 2016 Dodge/RAM � Топ Trucks AII Beds. 

NOTICE: At this time по accessories, including the model RVKЗOOO RV Companion 5th 

wheel hitch and the RVK3400 Slider, will work with this model of Turnoverball™ except: 

• 4" Dodge Hitch Extender (part# 4685)
10 

• RV Companion 5th wheel hitch (model RVKЗSOO), with special socket post.

Mounting Кit Вох (GNRM1309) Center Вох (GNRC909) 

IТЕМ DESCRIPТION QТУ IТЕМ DESCRIPТION QТУ 11 
1 Outside Driver Side Plate 1 9 Center Section 1 12 
2 Inside Driver Side Plate 1 10 2-5/16" Ball 1 
3 Passenger Side Plate 1 11 Latch Pin Handle 1 

Safety Chain Кit Bolt Bag 

12 1/2" U-Bolt 2 

4 Front Crossmember 1 

5 Rear Crossmember 1 

6 Rear Вгасе 1 13 Conical Springs 4 
7 1/2" Х 5-1/2" Х 4-1/4" U-Bolt 2 14 1/2" Lock Nut 4 5 

Mounting Кit Bolt Bag 5/16" Х 3/4" Carriage Bolt 1 2 
8 Bolt Guide AssemЫy 2 5/16" Х 3/4" Сар Screw 1 

5/16" Flange Nut 1 1/2" Х 1-1/2" Сар Screw 9 

1/2" Х 2-1/4" Сар Screw 4 

1/2" Lock Washer 17 �8 
1/2" Flat Washer 13 

1/2" Finish Nut 12 7 8 
5/8" Serrated Flange Nut 2 

NOTICE: This product was designed to fit vehicles in their original, "as manufactured" 
condition. Compatibllity with vehicles having replacement parts, or other modifications is 
not guaranteed. Inspect vehicle for modifications before installation of this product. 

BEFORE INSTALLING 
OVERHEAD LIFПNG DEVICE 
An overhead lifting device such as chain falls, engine hoist, or саЫе come-a-long, can Ье used to lift the center 
section of the hitch in place. If these are not availaЫe, а portaЫe, mechanical lifting device can Ье purchased 
through B&W. Lower а loop of chain or горе through the 4" hole in the truck bed floor and attach it to the latch 
pin in the round hitch receiver tube in the center section. See step 9 for instructions on latch pin operation. Use ����=�c:j)��� 
the lifting device to raise the center section until the round hitch receiver tube that protrudes from the center 
section fits into the 4" hole in the truck bed floor. Maintaining upward pressure may facilitate fastening the cross 
members to the center section, especially if the truck bed floor has been distorted downward from heavy use. 

Remove spare tire (optional). Following the vehicle manufacturer's instructions, remove the spare tire. This will provide 
easier access to the агеа where the hitch will Ье installed. Remember to replace tire when installation is completed. 

WARNING: Most trucks have FUEL LINES and/or BRAKE LINES 
and/or ELECТRICAL WIRES located along the frame rails where B&W 
Turnoverball™ hitches install. Carefully examine the location of fuel 
lines, brake lines and electrical wires BEFORE INSTALLAТION. Ве 
certain you will not damage fuel lines, brake lines or electrical wires 
when positioning hitch components, drilling holes, tightening 
fasteners. The fuel tank vent, located on top of the gas tank, can Ье 
easily damaged during the installation of the hitch components. Саге 
must Ье taken when positioning the front cross member and center 
section components. 

WARNING: DO NOT INVERT the ball in the socket when carrying 
heavy loads. The ball may hit the top of the differential. Remove the 
ball from the socket before loading. А plug for the socket is availaЫe 
from B&W. 

CLEARANCE WARNING: On short bed trucks, BEFORE 
INSTALLING THIS HITCH, check for adequate turning clearance 
between the front of all of your trailers and the truck саЬ. 

WARNING: The tow vehicle manufacturers recommended 
towing capacities should under NO circumstances Ье 
exceeded. 
NOTICE: The exhaust system тау vary from truck to truck. In 
some cases, the exhaust may interfere with hitch hardware. То 
determine if your trucks exhaust will interfere go to step б and 
follow the instructions for placing the two 5/8" bolt guides. Attach 
the 5/8" flange nut to each bolt and tighten. If the guides hit the 
exhaust they may rattle after installation is complete. Please call 
B&W customer service for additional information including possiЫe 
solutions for the hardware interference. 

http://www.carid.com/bw-trailer-hitches/
http://www.carid.com/gooseneck-hitches.html







	1309R 05 10 2016 L1
	1309R 05 10 2016 L2
	1309R 05 10 2016 L3
	1309R 05 10 2016 L4

